EARAROBREBRT —5 XN—ZXBISH—F

2023548388 (£) 3EHLISH

R H6ES 3BISR YS5R4mE (BE

(518 EE

=

EEE=CIEE

12000 FHE

[AE%] 17 :18,400,000 §  237&:7,400,000 .~ 3 75:4,600,000 437&:2,800,000H  53&:1,840,000

B\RE FRESS /IR HE B5F (F28) FA4L (5% | BBIEML | E3F |[SIEY | AT | #AE | B FIR) / BF / S£ERS
5 _ _ # 5 | CLX=)b 1:08.1 9-8 33.7106.4| 1 480 |FPRBE EFEHR)
117110 ¥/ A—RY 58.0 (-) 4y |BKER
RiW—5—yvT :7—RFA H—RSN—02FYR
S SIS q Y 5 | KEHE 1:08.3 3-3 34.4/103.8 | 12 | 506 |AMIER (GE#)
2 3| ®YaNILVYAAY— 7> | 80 a 1/4) g |TELT<Y
A:Dark Angel £ :Fashionable Ross Moorhead
— 5y~ o6 | OEE 1:08.3 1-1 34.81103.9| 9 50 | BE= ER)
317111 N\—E=Z—<E5> [B] 58.0 1) (-4) | BTEBESTE
R:FAIATv— B:AI—-XTFSAUR ErZyN e
~ 8 4 | RHEE 1:08.5 2-2 34.7|101.6 | 3 444 | ME GEH)
4|8|12(| 7YY 5.0 3/4) o |JvaTemst
R:AIU—=vkb—0O— B:LyRA-F HEI77—LA
o~ )= = 4 | HELUR®E 1:08.5 1-13 33.81102.1| 8 468 | BUBEFEE (FR)
Eu 5 | NFTIA—3 # 58.0 N “10) | @) #HBL—2K—2
Rib—EYS— BXFARNYT "HEI7—L
NI o4 | B2 1:08.5 9-8 34.2/101.8| 6 504 | DOERAESL (SS3R)
6l111|VITY 58.0 NF) o |MEE
R:O—RAHr+rO7 B:ZZARND« /=Y Tr—I
o HiD#BIE :08. - . . kS (358)
- g | ROAD ) —HA R B4 o2 1(70?:)5 11-11 [33.8(102.1| 4 (45342) i
RFVITARNXIN B:Y—FA R —F MER S Y R
] t 4 | M. FL—0O 1:08.6 7-5 34.4(100.7 | 7 | 458 |EERE— (FH)
8 9| TLALRU— 4 56.0 ) 6 |TRLT
R:ZAUDIRA NUAY S B:\vya F—=L— - I\ - T7—LERR
N . EREAER : - EeRB= (EFR)
95|7 | 7RING 4 4 S 1(.10/52.)7 6-5 346 99.5 | 2 (4_43 o
RiFRF BAZYwILITI Hiet vYF—elR
s s 4 | PIEEX 1:08.8 11-11 [ 34.0| 98.8 | 5 497 | BUEMUER (E3R)
10/5/6 | FI~ 58.0 a9 Ca) |BREU=Z ()
RiFIVYTSwT B:vavFrvhzvh e
y~ = SHE : - KIEBAN (ER
1 4| ®@U—BYRTSL 36 5o 1(70?:? 4-5 34.8]98.4 | N zg? Eﬁ%ﬁ( )
R:O0—-RAFO07 #:70O0-RRMU—K DS
S H S € 5 | KEVERE 1:08.9 4-3 349 97.4 | 13 | 484 |ESKREA EH)
128 2 | 7 AIVE=HDY 72| %0 ) -6) W) LT —F5TLy KR
R:TFAIWNIT7FY— B:yv)bYYLU—3 FER S Y R
S~ H s 4 | ENBEFE 1:08.9 7-8 3471 97.4 | 10 | 462 | M GSR)
13|8|13| E-FYIY—F 56.0 F5%) (10 | ST
RIE-UR Y4 TMU—T—F EHT7— L
[ BN
Eh' 45.6-34.6
NOYF AL | 11.9-10.6-11.0-11.0-11.4-12.2
@ 11— —BBIEfI
13—7+—
20—7F—
30—7— 11-12,3(2,4)7(9,13) (1,10)-(5,8,6)
43—F— | 11-12(2,3) (4,7,9) (1,10,13) (8,6)5
o ILRE
B B 10 2304 AR 3-10 3,090H 3= 3-7 7,700MH 3EE 3-10-1 123,900
g B 10 150/ 10-11 2,520 5 & 3-10 11,2104 3EH 10-3-11 486,840
3 2,210 3-1 22,100/ =51 10-3 12,010M
I 1,230

ABIC OV TRUTEREERRODDZE. THRIIZEL.




